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Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Subject Name : JOURNALISM & MASS COMMUNICATION
Duration : 180
Total Marks : 300
Display Marks: Yes
Calculator : None
Magnifying Glass Required? : No
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Rough Sketch/Notepad Required? : No
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Paper 1

Section Id : 517144123
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 517144379
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 5171449285 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning style" refer to in education?
A Joaodo) ©grgdsd ERan Ay

Options :

The innate ability to acquire knowledge.
e%-imgeééa FaTees ﬁnmggm

1. ¥

The cognitive capacity for critical thinking.
E’Dé}iﬁﬁ*mﬁ 8555 o .%Daijgéa’m

2. & H:

The personal approach to learning and processing information.
©grgHRnd, Sdrardin oD dcioet 585 58 \B5m
4

The teaching methods used by educators.
N H803 % th Fsa ﬁcée‘_‘é:}@;

Question Number : 2 Question Id : 5171449286 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



How can a positive learning environment enhance the learning process?
fﬁﬁ“é&é g7 ararddnnn, oggd (D8l Oty eiBo Sas0s

Options :

By discouraging collaboration among students.
- S}t:sogtfga} 0G5 DFPsETRY) ADESTHBLE

By providing limited access to resources.

) % HHhe HBDE (HIEE0D @obohiy

By fostering motivation, engagement, and creativity.

o (@86, DS, Gezord)Es DosroBoDHe
3.

By imposing strict rules and regulations.
BN Dchish Deodesh DHoHe

Question Number : 3 Question Id : 5171449287 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is a key principle of learner-centered methods?
@3R0SI oS SEHe Se K@

Options :

Passive role of students in learning.
. @Eﬁﬂéﬁméﬁ Doghe Aapcsres aJoles

Teacher's responsibility to memorize all content.
IS0 arogodsn HBoDHE LS’ SR args

2. %

Focus on adapting to individual student needs.
Tt Aape ©HHT°ONDH00D e

3.¢

Strict adherence to a standardized curriculum.

[@5rBE aroegodinidd E8dor Stnald Gothiy
4. % ®



Question Number : 4 Question Id : 5171449288 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does SWAYAM stand for?
ewe ©0&3 ?

Options :

L% System for Web-based Assessment and Youth-oriented Monitoring

Study Webs of Active Youth for Advanced Learning Management

Study Webs of Active-Learning for Young Aspiring Minds

Sustainable Web-based Academic Yearly Assessment and Management

Question Number : 5 Question Id : 5171449289 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary purpose of a Learning Management System (LMS)?
aSressiridy ;’ch@ 36{35‘%}&36’5 08 ﬁéﬁs?ﬁa&b i3

Options :
To manage financial transactions for educational institutions

DTrgoRet @by drRdroren Jerohes
1. # o &

To facilitate communication between students. parents and teachers

) % E)mvédnmﬁ) $8 Solthen, f%o%'“@“édﬁl‘]@ g seden hego S50t

To create and deliver online courses, manage content, and track student
progress

i 2.0 i 53 o e oy
©o80 55&)“3&}-563, g)a108) Hehye, arogodsn BErohe, Do%d DO [t HA]

roBohéd



To replace traditional textbooks with digital resources
Feo(HEechy arddHiEineh Gaben SHHes® b Daine

4. %

Question Number : 6 Question Id : 5171449290 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which type of research aims to explore new theories and ideas to generate
hypotheses?
HoBeoern 6863 Ik & HBslE ;fjfgéam,gf’gﬁn ?i}cjgoéa’mﬂéj TSR EISES

ﬁﬁgjﬁmzﬁmé LR ADHEDM.
Options :

Descriptive research
égmég 58885

Exploratory research

@55ﬂaaﬁégé 588858
2.9 :

Experimental research
DArHRHE 5068558

Quantitative research

Slelanold 588855
4, ® ’

Question Number : 7 Question Id : 5171449291 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Positivism in research emphasizes:
5B8°SHE’ 58 BAD esaoHidy

Options :

Subjective interpretation and personal beliefs

EEahghd DD, 5N Diysten
1. ®



The importance of intuition and gut feelings
085659, @0o|SHne GolTe (@rsnggs

2.
The use of rigorous scientific methods to uncover objective truths
QBT e 308 Boinexs® EBIHS QD HHe &5
3.¢
The rejection of empirical evidence in favor of abstract theories
36ri; drzodo edhireornr, edgrds JFgrst)) NoeEBobés
4, ®

Question Number : 8 Question Id : 5171449292 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the first step in the research process?
5885 (HBHE® It ©HiH IO

Options :

Data analysis
Sarod D3es

Writing the research report
5888438 BEFY raing

Formulating research questions or hypotheses

J 58855 e, HbBeapen %805
3. %

Conducting a literature review
(gleln) ﬁﬁbé Saknea

4. %

Question Number : 9 Question Id : 5171449293 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The appendices section of a thesis includes:
2.& H0855% g edogre Derifos ond aothid

Options :



The acknowledgments and dedication pages
P50, woldodatn Dden

A list of all the tables and figures in the thesis
?omanoé at;sﬁ&’mt:@’s 5’3%5&:, ®08e) srilae

Extra information, such as data tables, survey forms, or supplementary
materials

v terod E{’J%ED, ;,}65 groren, @iy @oden Hofd @hHE Jlroetisin
3.

A detailed description of the research methodology
568%55 HE8 Dnd DBBes

Question Number : 10 Question Id : 5171449294 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How does ICT impact research dissemination?
ICT 588%5ae ol 2 Hiod (Hgrdo Hrhdod

Options :

It limits research dissemination to local audiences only
568 ghR FE (B80T H6Eo Vhod

It enhances research dissemination through online platforms, social
media, and open-access journals

=585 Jb8en, FEras SrdEndn, Hadin 88D &J) HB8en oo
58880 a7ge) BHEos

2.
It replaces the need for written research reports
. HBE°ES (o BEFRe wBdoeR) 8 Bnod
3.
It discourages researchers from sharing their findings with others
%885 5%en s=dm E"$H asheH ©oBoSH0sd AheE HERok
4, %

Sub-Section Number : 2



Sub-Section Id : 517144380
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 5171449295 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)
Question Label : Comprehension

Note: Answer the questions 11-15 by reading the following passage:
He0E: 8O @ 52280 Darird0 SO0 Q. 11 000G Q. 15 (233 ©3) QaFTwren
[rododbs.

The investigation of the geology of all the places visited was far more important, as
reasoning here comes into play. On first examining a new district nothing can appear
more hopeless than the chaos of rocks; but by recording the stratification and nature of
the rocks and fossils at many points, always reasoning and predicting what will be
found elsewhere, light soon begins to dawn on the district, and the structure of the
whole becomes more or |less intelligible. | had brought with me the first volume of
Lyell's ‘Principles of Geology. which | studied attentively; and the book was of the
highest service to me in many ways. The very first place which | examined, namely St.
Jago in the Cape de Verde islands, showed me clearly the wonderful superiority of
Lyell’'s manner of treating geology, compared with that of any other author, whose works

| had with me or ever afterwards read.

éccﬁﬁgoﬁ]iﬁ &) e z:ﬁﬁég Qo G HB88%5E  orew S0gHdG, DotHEod
=[G =eb)Fo ©end®d $Hod. B8 (grodo Inde ;’Jﬂfﬁﬁ}oﬁ}é;’@iﬂj oof  KotsBRMEo
£y DDEIDOS. 570 Te) DB Beraro @Y SE dravo HBEG B D
58 8520 Jaho TR, oot S8odo HBASH HBEE Efirdathidos® wodae
S0Hto wRoe, @ B8 (@roson r0 Jenrd [HH:500.

S0 tégr'r} ogsabido 358 DS @g)’ (D) o 2arerd '@ Fotsd
DoDbo S Do T o3 dgrenre A5y Heaho D208, 3D H68000% Tnsd
53¥o, 85 & 5;:3 85eS Dowods emRd. oo alate -] S e Soxs SHDS 288
BSonses® B0, DS @) ofpdHd PrY) FRKo TH Qo efo eongod.

Sub questions



Question Number : 11 Question Id : 5171449296 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The author is interested in the study of
BSone ©iohdop wXE BOA .
Options :

Environment
;’}Uaﬁa’}ésao

rocks and fossils
feren 08D Bersren

nature
05)S

minerals
FaleIeen

Question Number : 12 Question Id : 5171449297 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
On his first investigation, he finds the rocks very
SSomd 88 [grodo HotiRoddad o) QN SPrakd.

Options :

disorderly
@O &)
| BB Al

disturbing
é@ééi}%

welcoming
iBoS

3. %



inhospitable
e3t3BoSA

4. %

Question Number : 13 Question Id : 5171449298 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The phrase- ‘light soon begins to dawn’ means
‘e‘_‘éﬁﬂfstﬁ’s St (H:H506:508" @0él

Options :

day-breaks
S0 ob

Sun shines brightly
Kedogth (Bseddodone (Hse8arih

clarity emerges about the situation

L HERB D e S0
3' -

daylight begins
UG et (arBogisha)enod

Question Number : 14 Question Id : 5171449299 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The author finds the book, ‘Principles of Geology' as most

BSome FRDE B Hrlgeen D5 @0 B SRS,
Options :

exemplary

@eﬁiﬁ%@v@ﬁ)@eﬁ
1.v

imperfect

©0:3PB D



mediocre
TGRS i

3. %

inferior
TPRBE N

Question Number : 15 Question Id : 5171449300 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Mr. Lyell is an/ a
3}}@5 DS a.8

Options :
Geophysicist
BAHERND

[ % &
Author

5 % BSomnes

Geologist and author
3 ai,mé.’j@;é @@ég 508 Bdomes

explorer

E}éﬁéﬁéjﬂﬂ}
Sub-Section Number : 3
Sub-Section Id : 517144381
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 16 Question Id : 5171449301 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A communication prevents misunderstandings and helps in
establishing a constructive relationship.
SESAER osrmrod Jarbiod Hhbchn Joyed)l Sonowrd)

Qéajiﬂiﬁtﬁo@s ISEveviisTastivleln)




Options :
positive

e
1. &

passive

reflective
6’5@6 e 55 &0 Sl

retentive

edes 38 He
4, ®

Question Number : 17 Question Id : 5171449302 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Being in communication helps in establishing credibility as a
professional
(EPRRS éé})ﬁ&]éa’ﬁ@ﬁ ™ 6080 H9 @ﬁgﬁfﬁ: BTy %Saoiﬁéoeﬁ’s
Defahatodod
Options :
reserved
abeSgrral

confident

éé}&éo
2. %

soft spoken
a’)}écﬁ]w&

indifferent
S5

Question Number : 18 Question Id : 5171449303 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Classroom communication is effective only if the teacher is
Stvinidevnlay) SBRS 16 éémgﬁ]éﬁﬁ Bgiddosorr &otnod

Options :
emphatic

; 5
| SPE)HEYE

empathetic
- F2hd Ko 7% eond

gentle
%“ém@tﬁ} ©ona
3.8
loud
ARG IS
4, ® 0

Question Number : 19 Question Id : 5171449304 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Usage of can be avoided in inter cultural communication to steer
clear of misunderstanding and ambiguity

@088 Hoysd Hoerhedt, HAD LEerHe Sed @%ﬂgo oBc5n eHSR
VardoBLR.

Options :

translation
IV EVEIALS

non -verbal communication
Eﬁﬁnﬁa}g Hogrdes

accent
oV i8]



jargon
20,
4. ¢

Question Number : 20 Question Id : 5171449305 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

One of the important forms of traditional media is

E_'l
Ir,
5

Tofdorad HregigEoo ang) Sneggdd Sraredd

Options :

Theatre and drama

Bohoeo subdm oeégo
1.¥ @

Newspapers
PTR(BE e

Novels
3 % Do

journals

4% s(B8en

Question Number : 21 Question Id : 5171449306 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
6,8,19,61249,

Options :
1249
1. %

1261

2. %

. 1251



4 x 1256

Question Number : 22 Question Id : 5171449307 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
ABFL, BDLX, CFRJ, DHXV,

Options :
EICH

1. %

, » EJDI

, » EJDH

, » FICH

Question Number : 23 Question Id : 5171449308 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In a certain code language if the word SOLUTIONS is coded as SNOITULOS,

then the word ANSWER coded in that language is

RENSAW

2. %

. REASWN
3. %

. REWSNA



Question Number : 24 Question Id : 5171449309 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The cost of 3 pens and 21 pencils equal to the cost of 5 pens and 7 pencils. The

ratio of the cost of a pencil to that of apenis

3 VAN DA 21 DD ) A 5 DD €0 B0 7 D)D) ABED dT0.
20O &8 HBAD D) BG DA e

o o

Options :

L% 73

4. 17

Question Number : 25 Question Id : 5171449310 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
An A.C. is purchased for Rs. 55,000 and sold it for Rs. 44,000. The loss

percentage is__

wh

2.5 DD E5°. 55,000 §' 20BN TR E3°. 44,000 €90 7 SN0 TS0
Options :
15%

1. %
25%

20%

33%



Question Number : 26 Question Id : 5171449311 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Statements:

Some gold are silver.
Some silver are bronze.
No bronze is iron.
a5 Er5en:
Eoeh 20mo0 S0b.

£ da&en 5F00 0.
Z01 @O0 QA 52D,

Conclusion:

I Some bronze are gold.

I. Some iron being bronze is possibility.

1. Some iron being gold as well as silver is a possibility.
ST

I ) Soarex 2000,

II. 5065 Qa0 S0 03 e955°50 SG0d.

IIL. 065 @50 20TTH0S aren S0 SreF S0R 95530 &0l

Options :
I and I follow
| & Ie0OCIN I @O0
T follows
T e9:80705%000
2.9
O and TT follow
II 000 I 2000100
3.
IO follows

4 % I &e00000

Question Number : 27 Question Id : 5171449312 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



In a class of 80 students 30 students like tea, 35 students like milk and 25
students like coffee. It is also known that 15 students like both tea and milk, 17
students like both milk and coffee and 14 students like both tea and coffee, 9
students like tea, coffee as well as milk. The total number of students who like
neither tea nor coffee nor milk?

80 sDOA DTTsDENS TS, 30 0B Deoezdoen ¢3, 35 000 Frew, 25 Hod
TR andderd. 15 06 Jorsden €3, ren, 17 H0O Dersdden rew, STaew,
14 5008 Deshen €3, sRen, 9 D0 Dstven ¢, 525, ren efhehar) K. €3,

LU N

55, ;e ARG D7D Do Joes?
Options :

L 27

2. " 12

3. % 10

4% 8

Question Number : 28 Question Id : 5171449313 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How is my father's father's only daughter-in-law’s brother related to me?
S0 ) TTO 370 0 2,8 TS 8}, 88 €850 588 750 o080 De3?
Options :

Father

, » Paternal Uncle
3 & Maternal Uncle

, w cousin

Question Number : 29 Question Id : 5171449314 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



The distinction between Savikalpaka (determinate) and Nirvikalpaka
(indeterminate) is made with respect to which of the following pramanas?
ddseenE {E'Cigo.‘iméééo) s0Bain ABEenS {ﬂgg) Sogy g0 S8 1Bod

TBSE O (Hrerd8 Fohadod
Options :
Anumana (inference)

| x ©NEFES (wodse)

Pratyaksa (perception)

L v B (oBmEs)

Arthapatti (postulation)
Sletsls (895:5859)

Upamana (comparison)
&3 (8¥DY)

Question Number : 30 Question Id : 5171449315 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Consider the following statements and choose the right option

B85 %ﬁﬁ}@éﬁ@é} HBKRHE"8 080 Fboin HBD BHS doDE ol

(a) Middle term should be distributed in atleast one premise
55520508 BDG0 2.8 H5hoDos® Hodd DoirD.

(b) Middle term should be present in the conclusion
HnhAoHE Sogly HXo Gowed.

(c) Both premises can be particular in a valid argument
Beparén edy arSHS® Both [Haboiren DBgJor SoBSHE).

(d) Both premises can be negative in a valid argument
eneTetn @(ﬂ)é at556S° Botdh (Habdiren (H8EreoMT SOEDI.

Options :

L% (c) and (d)



Only (c)
2. %

3 o Only (a)

, » (®and(0)

Sub-Section Number : 4
Sub-Section Id : 517144382
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 5171449316 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (31 to 35)
Question Label : Comprehension



Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.

He0%: 180 @ 52080 DTG0 e33O0 Q. 31 D0 Q. 35 (234) O30 DATTEEN
lsohod.

The line graphs give the sales and expenditure of a company across five years,
starting from 2010. The value of both sales and expenditure for the year 2010 is

indexed to 100. It is known that the profitin 2012 was Rs. 1 cr.

2010 VOB (2rB0250THE 0TF € Z0DA) 9502570 HOOI $I5A5FEID
Bod BS RN oA OW. 2010 H0:5¢5 JTRE 9502571 HOHCASD 55000
BoA0E3 Densd 1008 JHrdE TOVDR0O. 201263 er250 6. 2.8 T3 .

150 Line Graph of Sales and Expenditure
118 122
114 109
100 ot
100 110 107 112
100
50
0
2010 2011 2012 2013 2014

e Sales e TFExpenditure

Sub questions

Question Number : 31 Question Id : 5171449317 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In at least how many years did the company make a profit?

B g
EDN0, ) HDoSS TS E0DA ereTred SGoD0E?

Options :

1. % 2

v 3



Question Number : 32 Question Id : 5171449318 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In which year was the profit the least ?

Q HOXBIB0S @8 B8y €50 SDJ0A ?

Options :

| % 2010

, x 2012

2014

Can not be determinead
QPONOWIGB0 L0 TED

Question Number : 33 Question Id : 5171449319 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In which year the percentage income in sales is highest?
2 05651506 95050 @65 O TS50 STONO0 SO ?
Options :

| 2011

2012

Question Number : 34 Question Id : 5171449320 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

If the sales of the company in 2010 was Rs. 250 cr. Then what was the profit in
2013

201065° 070 DEOSTeN &0, 250 FEW €9:9)¢0 20136 7250 Joeh?

Options :

| % 86Cr

10.8 Cr
o

5w ll4Cr

141Cr

Question Number : 35 Question Id : 5171449321 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What was the approximate percentage decrease in profit in 2012, when
compared to 20117
20118’ FOW 201285" er50S’ Hdrdh o FEo ShHod ?

Options :

. % 6

Can not be determined.
4 VRONOTIBO AP0 570

Sub-Section Number : 5
Sub-Section Id : 517144383
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 36 Question Id : 5171449322 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the full form of 'GIF' ?
'GIF' 538 oesabah ?

Options :

Global Internet Format
1. ®

5 % Global Interface Format

v Graphics Interchange Format
3.9

Graphical Interface Format
4, ®

Question Number : 37 Question Id : 5171449323 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary function of an IP address?
IP Dharsir argshE 0§ &b ?

Options :

To identify a device on a network
- ISBBpS® 8.8 HBZeR) B0

To store WebPages
38 wded P Jane
2. %

To process email messages

5 % BeDoDEeD B8O 2)0aHed

To encode video content
4w DB DX 25 Datne

Question Number : 38 Question Id : 5171449324 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0

SWAYAM PRABHA is a group of.............
xaho(zgs 58 GIog) Hauresieain

Options :
30 DTH channels
30 B82rS anémg

1. ¥

40 DTH channels
40 BB2rS anﬁé;g

60 DTH channels
L 60 &3PS anﬂ‘@

80 DTH channels

80 A82r5 aﬁé@
4.

Question Number : 39 Question Id : 5171449325 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following ICT initiatives of MHRD deals with E-governance for institutions
[ Universities?
G90.20.¢95.8 Bk & DD ohd SPEHe Soge HE durgociret
Ro2080HR.
Options :
SWAYAM

1. %

) SAMARTH

3 » VIDWAN

IRINS
4, %

Question Number : 40 Question Id : 5171449326 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0

What does the term "Wi-Fi" stand for?
'B2" @dre 38 ?

Options :
Wide Frequency

® EE gﬁ.ﬁ 2

Wireless Function
% EE@E $o§5’n

2.
Wireless Fidelity
- 3685 H808
Wide Functionality
J 36 HogT0d

Question Number : 41 Question Id : 5171449327 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In which year was the United Nations Commission on Sustainable Development
(CSD) started by the UN General Assembly?
@oéﬁgé&dﬁj Ferpiies ©208) % Bod HoHSBoss BHD @B @}Déocgécjﬁa

g8 (@rtododob.
Options :
| 1992

, x 1993

, « 1994

1885
®

Question Number : 42 Question Id : 5171449328 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Which of the following is not a negative impact of urbanization on the
environment?
TFEdtnodt, % 8108 @odsn é%n’%ééa&?ﬂ mmé@é (2dgrado Weath

Options :

Deforestation

| ©E8 ?Jt’ijvéa}é

Pollution
sv@a?’qgo

Waste recycling
Sgore Bpgord

Loss of biodiversity
L5355 Sapen
4. %

Question Number : 43 Question Id : 5171449329 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following gas is more in percentage in the air?
&t ) B Fosodd &) a0 S0 ?

Options :

Oxygen Gas
e98yesih

Nitrogen Gas

SlePeso
2.

Water VVapour

; & OB =8

Carbon Dioxide Gas
ﬁ“ﬁg SDENFD TS0
4, ®



Question Number : 44 Question Id : 5171449330 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Why biogas is considered a ‘good’ source of energy?
2@rrod a8 Hodds Sdthrr dothded HBNBrm

Options :
as it produces ashes
b ardisid 653 35708

as it produces methane

, x ©B DPSD 658 THod

as it burns without releasing smoke

3 ¢ @b &£rF Bowe Hothdod

as it decomposes in the absence of oxygen
o825 5% 3foh §8%0b

Question Number : 45 Question Id : 5171449331 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is objective of the Paris Agreement/Accord?
b aondy/ D58 A oFgE®

Options :

Decrease Global Warming below 2 degrees Celsius

v 2355035 3%@@&}5} 2 &lhe HSHoHD BHIHDL ShHohey

Decrease Global Warming below 3 degrees Celsius
5 w BEH0S ﬁéé}&é}é} 3 &lfe HSEHD HIHHS Shohe

Decrease Global Warming below 1.5 degree Celsius
3 % 2355033 ééé}éﬁaé} 1.5 &fe DHEHEHD HIHDH e:‘éﬁor:i}éa



Decrease Global Warming below 1 degree Celsius
HH0% DeEn 1 Blfio DSHhoHD BIHHH Shohes
4. %

Question Number : 46 Question Id : 5171449332 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Under whom, Nalanda was greatly ransacked by the army of Mamluk dynastic of
Delhi Sultanat?

&8 herars @nY) Sros GorRB pdgn 258 HBsroRS® Soowe AEpDHT
rairgabob.
Options :
Chandragupt Maurya

1. %

Aurang jeb
3 Bakhtiyar Khiliji

Allaudin Khiliji

Question Number : 47 Question Id : 5171449333 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The main governing body at the tertiary level of education in India is....
mobdir dogBon éej@d:’n} %;03345‘5 Swgyg HoareD éo?’m:f

Options :
NCERT

, % CBSE

AICTE

3. %

4 v UGC



Question Number : 48 Question Id : 5171449334 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of conventional learning programme in India?
&8 BI08 7S 0B moBdirs® FroHmrany ST IR T e

Options :
Yoga
L% aleiy
Fine Arts
ode B¥fen
2. %
Agriculture
D
3 ¥ SR RPADED

Fashion Designing
28 BreH8ens

Question Number : 49 Question Id : 5171449335 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

One among is not a Core Critical Thinking Skills
BotHe? 288 8085 Lo wébSoe Jdesgin 5°thH
Options :

Interpretation
D Bes

Analysis
DEGes

Self-regulation
fﬁ&:ﬁ) Qa0



Self esteem
«?_aéé S0
4.«

Question Number : 50 Question Id : 5171449336 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The main objective of teaching at Higher Education Level is.....
&) &mvgﬁ;m@ﬁ AR Ghog), Hmgyg eFsEn

Options :

To prepare students to pass examination
Sjmugtig@éa ﬁééﬁﬁﬁ ﬁ@rzﬁaﬁ@m@é SSsrHBohne

1. %

To develop the capacity to take decisions

DBaHo BHT 48 A Dasned
2. B g @

To give new information

5 Sdrardo s
3. %

To motivate students to ask questions during lecture

s Hhohosd 3]{:}13?56&%@&3 (e Sa06H (30H0HE
4, ®

Paper 11

Section Id : 517144124
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 200
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 517144384
Question Shuffling Allowed : Yes
Is Section Default? : null



Question Number : 51 Question Id : 5171449337 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
A television programme of film based on the facts of the life of a person is
called:
Options :
Docudrama
1. ®

Feature

3 Biopic

Documentary

Question Number : 52 Question Id : 5171449338 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The mathematical ratio between the vertical and the horizontal
measurements of a film/video is referred to as:
Options :
Format ratio
1. %

Size ratio

3 « Aspect rafio

Frame ratio
4. ®

Question Number : 53 Question Id : 5171449339 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The community radio concept is identified with:



Options :
% Personal casting

Broadcasting

; % Podcasting

Narrowcasting
4, ®

Question Number : 54 Question Id : 5171449340 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The up and down movement of camera on vertical axis is known as:
Options :
L& Tilt

) % Zoom

3 % Tracking Shot

L% Passing Shot

Question Number : 55 Question Id : 5171449341 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Narrow-casting has a:
Options :
. ® Non-geographical audience

7 « Specific audience

3 % Massive audience



Mass audience
4, ®

Question Number : 56 Question Id : 5171449342 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

AFP is the abbreviation for which news organization?
Options :
| = Associated French Press
». % American Free Press

3 « Agence France Presse

4 % American Federal Press

Question Number : 57 Question Id : 5171449343 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In SMCR model of communication, the letter M stands for:

Options :

L Message

) % Means

3 ® Medium

4 % Mode

Question Number : 58 Question Id : 5171449344 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



ASCI stand for...
Options :
|« Advertising Standards Council of India

) % Advertising Scheme Council of India

3 % Advertising System Corporation of India

4 % Accounting System Council of India

Question Number : 59 Question Id : 5171449345 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The Prasar Bharati Act came into force in the year
Options :

| % 1992

5 % 1995

s % 1996

4 1997

Question Number : 60 Question Id : 5171449346 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In DAB, what does the letter ‘A’ stand for?
Options :
| » Asterisk

» « Audio

, » Antenna



Automatic

Question Number : 61 Question Id : 5171449347 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
is called the magic multiplier?
Options :

| v Mass Media
, % Food Chain

; » GDP

4 % Happiness Index

Question Number : 62 Question Id : 5171449348 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Who is known as the father of Panchayati Raj in India?
Options :
Mahatma Gandhi

1. *

) Balwant Rai Mehta

3 % Lord Ripon

4 % Babu Jagjivan Ram

Question Number : 63 Question Id : 5171449349 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0
Which organization launched the initiative of e-Choupal?

Options :

L@ ITC

Tata

2. %

; » Reliance

4% Gautam Adani

Question Number : 64 Question Id : 5171449350 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which act makes CSR mandatory in India?
Options :

| = Corporate Act

, % Commercial Act

, = Organization Act

Company Act
L pany

Question Number : 65 Question Id : 5171449351 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is the meaning of Unilinear?

(1)  Consistently Developing
(2)  Single Path Development
(3) Steady Path Development
Codes:



Options :
| % Only 1 is correct

Only 2 is correct
. 1and 2 is correct
3. %

. 1,2 and 3 is correct

Question Number : 66 Question Id : 5171449352 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Who coined the term “Fourth Estate™?
Options :

| ® Charles Marian
» % James Bryce

3 « Edmund Burke

4% Thomas Jefferson

Question Number : 67 Question Id : 5171449353 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Morgue is?
Options :
Photo achieve

1. %

) News library



3 % Back volume

4 % Printing machine

Question Number : 68 Question Id : 5171449354 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
‘Chief Minister resigned’ is an example of:

Options :

% Summary Intro

, % Ccommon Intro

5 % Question Intro

4 Bullet Intro

Question Number : 69 Question Id : 5171449355 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Mandatory deadline for the release of a story is called:

Options :

Embargo
1.¢

, % Hold

5 % Scoop

4 % Release

Question Number : 70 Question Id : 5171449356 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Crystallizing public opinion was authored by:

Options :
| % Berlo
, w Aristotle

;  Edward Bernays

Black Sam

4. %

Question Number : 71 Question Id : 5171449357 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which section of IPC defines the offence of defamation?

Options :
408

1. *

, x 409

5 % 489

4.« 499

Question Number : 72 Question Id : 5171449358 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Four Theories of press is conceived by:
Options :

L Wilbur Schramm



» u J Carey
3 % Dennis McQuail

4 » Marshal McLuhan

Question Number : 73 Question Id : 5171449359 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Folio line gives details of:
Options :

Page Numbers
1. v

5 % Company Details

Index of Stories

Editorial Staff

Question Number : 74 Question Id : 5171449360 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
National Press Day is celebrated on:

Options :
| October 21

November 1
=

;3 « November 16

January 7
4. %



Question Number : 75 Question Id : 5171449361 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This is a hierarchy of effects or sequential model used to explain how
advertising works:

Options :
| v AIDA

, % ADD

PESTLE

4 % SWOT

Question Number : 76 Question Id : 5171449362 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Dividing the market based on age, income and educational qualification is
known as:

Options :

% Profile

- Demography

3 % Targeted Group

4 % Census

Question Number : 77 Question Id : 5171449363 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Any device or word that identifies the origin of product, the manufacturing
details etc is known as:

Options :
~ Trade Name
1. ®

Brand Name

3 « Trademark

4% Identity

Question Number : 78 Question Id : 5171449364 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Infomercials are designed to solicit a direct response which is
and are, therefore, a form of direct marketing.

Options :

L Specific and Experimental

) % Persuasive

3 » Advertising

Marketing Ethics

4. %

Question Number : 79 Question Id : 5171449365 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Copywriting is the act of writing copy for the purpose of selling or
marketing a business, or idea

Options :
Price



» « Product

Material

4% Concept

Question Number : 80 Question Id : 5171449366 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Series of messages that divide idea and theme which make up an
integrated marketing communication, is known as?

Options :
| % Advertising

, » Advertising Research

3 « Advertising Campaign

4 % Product Placement

Question Number : 81 Question Id : 5171449367 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Handwritten posters in the sixteenth and the seventeenth century which
are considered to be the forerunners of advertising are:

Options :

| % Pamphlets
5  Siquis

3 % Billboards

4 % Brochures



Question Number : 82 Question Id : 5171449368 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Printed matter that runs over the edges of an outdoor board or a page
leaving no margin is known as

Options :

|« Bleed

7 % Solus

3 % Broadsheet

4. % Classified

Question Number : 83 Question Id : 5171449369 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Placement of advertisements inside or outside transportation vehicles is
known as
Options :

Aerial Advertising

Qutdoor Advertising

2. %
3 « Transit Advertising

4 % Classifieds

Question Number : 84 Question Id : 5171449370 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Letters, folders, reprints, or other material sent through the mails directly
to prospective purchases is

Options :



Direct Mail Advertising
1. v

» % Instant Mail Advertising
3 « Retrieve Mail Advertising

4 % Spam

Question Number : 85 Question Id : 5171449371 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

is an elaborate booklet usually bound with a special cover.

Options :

|« Leaflet

> « Brochure
3 % Pamphlet

4 % Hoarding

Question Number : 86 Question Id : 5171449372 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Sponsoring educational and literacy programs, staging open houses and
conducting tours improve:

Options :

L% Financial Relations

> « Community Relations

3 » Government Relations



4 % Media Relations

Question Number : 87 Question Id : 5171449373 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

theory is another way to look at how people process and
accept information

Options :

| % Social Exchange

5 « Situational

3 % Systems

4 % Diffusion

Question Number : 88 Question Id : 5171449374 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

is the overall estimation in which an organization is held by its
internal and external stakeholders based on its past actions and probability
of its future behavior.
Options :

Corporate Logo

) % Corporate Identify

3 #% Corporate Design

4. v Corporate Reputation

Question Number : 89 Question Id : 5171449375 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



If the statement is written and published, the defamation is called
Options :
|« Slander

5 % Libel

3 » Copyright

4. % Piracy

Question Number : 90 Question Id : 5171449376 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

is a page on company’s website that contains resources and
information for reporters and publishers.
Options :
RSS

1. #
2. % VNR

s v Media Kit

. % VNR

Question Number : 91 Question Id : 5171449377 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
uses the economic metaphor of costs and benefits to predict
behavior.
Options :

System Theory

1. #

Situation Theory

;3 » Diffusion Theory



4 « Social Exchange Theory

Question Number : 92 Question Id : 5171449378 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

is the oldest form of public relations.
Options :
| & Two-way asymmetrical
7 % Two-way symmetrical

3.« Press Agency

4 % Public Information

Question Number : 93 Question Id : 5171449379 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

An organization with a more favorable prior reputation will still have a
stronger post crisis reputation because it has more to spend
than on organization with an unfavorable or neutral prior reputation

Options :

| « Reputational Capital
, » Capital
3 w Resources

Money

4. %

Question Number : 94 Question Id : 5171449380 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



The first step in organizing employee communication is
Options :
v Taking a close look at the organization and its structure

> = ldentifying tools and tactics

3 % Developing and implementing plan

4 % Measuring the effectiveness of the communication plan

Question Number : 95 Question Id : 5171449381 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
is the main role of corporate communication with respect to

brand
Options :

| » Recognition

Loyalty

2. %

3 % ‘Value

4 Positioning

Question Number : 96 Question Id : 5171449382 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The Copyright Act came in the year

Options :
| % 1954

, » 1957



L x 1958

1963

Question Number : 97 Question Id : 5171449383 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Official Secrets Act was enacted in the year
Options :

1.« 1923

, % 1933
3. % 1943

4 % 1953

Question Number : 98 Question Id : 5171449384 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Defamatory (false and injurious) written statements or material including
movies or photographs is called:

Options :
| v Libel

> % Slander

3 ® Lien

_ None o f the above
4, ®

Question Number : 99 Question Id : 5171449385 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Press is subject to the restrictions that are provided under the Article
of Indian Constitution.

Options :
L 19(1)

, v 19(2)

% 19(3)

4% 19 (4)

Question Number : 100 Question Id : 5171449386 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

refers to the order a court issues so that it can review the
decision and proceedings in a lower court and determine whether there
were any irregularities.
Options :
| Certiorari

) % Caveat

3 % Appeal

None of the above

Question Number : 101 Question Id : 5171449387 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The methodology of communication although has changed and dispersed
in numerous directions based on the source of its impact.

Options :
. Socio-cultural



, x Modern Cuiture

3 % Inactive

4 % Agriculture

Question Number : 102 Question Id : 5171449388 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Propaganda is commonly created by , but some forms of mass-
communication created by other powerful organizations can be considered
propaganda as well.

Options :

_ Public Sector
1. %

, « Governments
3 % Local

4 Judiciary

Question Number : 103 Question Id : 5171449389 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The first major newspaper in India The Bengal Gazette was started in

Options :
1.« 1779

, % 1879
3 % 1929

4 % 1939



Question Number : 104 Question Id : 5171449390 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

is the function of management which follows planning. It is a
function in which the synchronization and combination of human, physical
and financial resources takes place.

Options :
| % Performance

, % Preparation

3 % Persuasion

4 « Qrganizing

Question Number : 105 Question Id : 5171449391 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
TRAI stands for

Options :

| % Training Rural Achievement India

> % Telecom Regulation Advertising in India

3 Telecom Regulatory Authority of India

4 % Teaching Radio Act India

Question Number : 106 Question Id : 5171449392 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Keyword optimization is the act of researching, analyzing, selecting the
best keywords to drive qualified traffic to your website.

Options :



|« True

7. # False
3 % Maybe

4. ® May Not

Question Number : 107 Question Id : 5171449393 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is the full form of PPC?

Options :
| = Per Pay Click

» « Pay Per Click

3 % Prize Per Click

4 % Price Per Click

Question Number : 108 Question Id : 5171449394 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
VPN stands for...

Options :
| v Virtual Private Network
5 % Very Private Network

3 % Voice Protocol Network

4 % None of the above



Question Number : 109 Question Id : 5171449395 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Bitmap images are made of...

Options :

1 # Pictures

> % Pixels

3 « Lines and Curves

4 % None of the above

Question Number : 110 Question Id : 5171449396 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Magnetic Disks are also known as...

Options :
| & Compact Disk

> % Soft Disk

3.« Hard Disk

4 % None of the above

Question Number : 111 Question Id : 5171449397 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
TAM is
Options :
Television Audience Measurement

1. ¢

) % Television Air Marketing



3 % Tlele Air Marketing

4 % Television Audio Measurement

Question Number : 112 Question Id : 5171449398 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In video editing the first work is

Options :
| % Timeline

, « Capture
3 % Shorts

4 % Dump

Question Number : 113 Question Id : 5171449399 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The first edited version of a TV programme which needs further polishing
and corrections before the actual broadcast is called as

Options :
|« Rough Cut

> % Match Cut

3 % First Print

4 % Rushes

Question Number : 114 Question Id : 5171449400 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Generation loss is most minimal in
Options :
" Linear Editing

, » Assemble Mode

3 % Iransferring

4« Non-Linear Editing

Question Number : 115 Question Id : 5171449401 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In which area is digital technology superior to analog technology?
Options :
| % Signal to noise ratio

» % Frequency response
3. % Dynamic range

4 « All of the above

Question Number : 116 Question Id : 5171449402 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A signal to an anchor or presenter to start talking or begin his action is
termed as

Options :

% Command

7 « Cue

3. % Order



, x Call

Question Number : 117 Question Id : 5171449403 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

theory of media effects suggest that TV portrayal of violence
reinforce whatever established pattern of behavior, viewers bring with them
to the media situation.
Options :
| % Catharsis

o % Aggressive Cues

;3 Reinforcement

4 % None of the above

Question Number : 118 Question Id : 5171449404 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

is a branch of philosophy dealing with nature of beauty, art,
and taste and with the creation and appreciation of beauty.

Options :

. = Design

5 Aesthetics
3 % Glamour

4 % Psychoanalysis

Question Number : 119 Question Id : 5171449405 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Red, Yellow and are primary colours.

Options :
1.« Blue

> % Black

White

3. %

4 % Violet

Question Number : 120 Question Id : 5171449406 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is a problem associated with survey research.
Options :
| = The problem of objectivity

5 % The problem of 'going naive’
3 The problem of omission

4 % The problem of robustness

Question Number : 121 Question Id : 5171449407 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which form of data below can usually be obtained more quickly and at a
lower cost than the others?

Options :
| % Survey Research

.« Secondary Data

; » Primary Data



4 % Data from online Marketing Research

Question Number : 122 Question Id : 5171449408 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
A research hypothesis can take either

(1) Declarative form
(2) Null form
(3) Question form

Codes:
Options :
L% 1 only

, % 2only

5 % 1@andzonly

4 v 1.2and 3

Question Number : 123 Question Id : 5171449409 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following best suits 'Action Research’?
Options :
|« Itis an applied research

» = Itis a quantitative research

3w Itis asurvey research

4 % Itis a population research

Question Number : 124 Question Id : 5171449410 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the full form for IRS?
Options :

% Internal Revenue Service

) Indian Readership Survey

International Readership Survey

Individualized Research Study

Question Number : 125 Question Id : 5171449411 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Suppose you are doing a survey in which sample quality and precision are
of utmost importance and you need to ask some critical open-ended
questions. Which survey mode would work best?

Options :

|« Face-to-face Interview

, % Telephone Interview

3 % Mail Questionnaire

4 % Mixed mode combining telephone interviews with a mailed questionnaire

Question Number : 126 Question Id : 5171449412 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Research problem is selected from the stand point of?

(1)Researcher's interest
(2)Financial support
(3)Social relevance

Codes:



Options :
[ % Tlonly

) % 2 only

;. % 1and2only

4 v 1.2and3

Question Number : 127 Question Id : 5171449413 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which of the following is not a transition?
Options :
_ Fast Zoom
1. #

) % Fadein

3 % Fade out

4 « Zoom

Question Number : 128 Question Id : 5171449414 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Who is often referred to as the Father of Cinema?
Options :

| % Kuleshov

2« Griffith
3. # Eisenstei Eisenstein

4 % Hrishikesh Mukherjee



Question Number : 129 Question Id : 5171449415 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The technique of making transitions between shots as unnoticeable as
possible is called

Options :
| % Mise-en-scene

, % —Segmentation

5 » Dramatic unities

L Seamless editing

Question Number : 130 Question Id : 5171449416 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
A shot makes a character look less powerful.

Options :
| = Subjective Shot

) High Angle Shot

3 % Low Angle Shot

Perspective Shot

Question Number : 131 Question Id : 5171449417 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is Syntactic?

Options :

1. % The study of language in use



» « The study of relationship among words

3. # The study of human interactions

4% The relationship between words and sentences

Question Number : 132 Question Id : 5171449418 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

According to the ‘Global Village’ concept of Marshall MacLuhan
Options :

L Electronic media can help the masses to effect change
> % Maintain person to person relations

3 % Most of new technologies make people scattered

4 % Electronic technologies would not be able o enlighten the masses

Question Number : 133 Question Id : 5171449419 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Under which set of models does Rostow’s stages of growth is included?
Options :
| % Uni-linear

, % Non uni-linear

3 % Non-linear

4.« Linear

Question Number : 134 Question Id : 5171449420 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In which of the following paradigms, the idea of free market is suggested?
Options :

| % Mainstream Paradigm

) o Counter Revolution Paradigm
3 % Dominant Paradigm

4 % Populist Paradigm

Question Number : 135 Question Id : 5171449421 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Any paid type of non-personal promotion and presentation of goods,
services or ideas by an identified sponsor is:
Options :

| Sales Promotion

, % Direct Marketing

3 % Events and Experiences

4 Advertising

Question Number : 136 Question Id : 5171449422 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

People-to-people oral, electronic or written form of communications that
associate with experiences or merits of buying or using services or
products is:

Options :



. Interactive Marketing

Direct Marketing

2. %

« Personal Selling

< Word-of-mouth Marketing

Question Number : 137 Question Id : 5171449423 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Leader writer is the one who writes the
Options :

| % Main story

2. % Middle
3 « Editorial

4. » Edit-page Article

Question Number : 138 Question Id : 5171449424 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
is a detailed account of the coming event.

Options :
| w Feature story

, w Advancer

3 ¢ Curtain Raiser

4. % Advance



Question Number : 139 Question Id : 5171449425 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
is a deliberate attempt by PR practitioners to influence the
public.
Options :
|« Publicity

, % Propaganda

3 & Persuasion

4 % Pseudo Events

Question Number : 140 Question Id : 5171449426 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Diffusion theory has discrete steps.
Options :
|« Five

) % SiX
, » Eight

4 % Ten

Question Number : 141 Question Id : 5171449427 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

To improve the standard of news agencies and Newspapers
was reconstituted.

Options :

|« Press Council




, » Wage Board
3 % Press Forums

4 % None of the above

Question Number : 142 Question Id : 5171449428 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Jurisprudence means?
Options :
|« The topical area of the science of law and societal order

> % Alegal scholar

“ Judicial System

4 % None of the above

Question Number : 143 Question Id : 5171449429 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A is a short tune used in advertising and for other commercial uses.

Options :
| Teaser

2. v Jingle

3« Commercial

4 % Spot



Question Number : 144 Question Id : 5171449430 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The Press Institute of India PIll is an independent nonprofit organization
founded in
Options :
1955

1. *

, » 1963

; % 1985

4 % 1989

Question Number : 145 Question Id : 5171449431 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Tim Berners Lee is associated with:

Options :

| World Wide Web

Arpanet

2. %

3 % Hypertext Editing System

, » Personal Computer

Question Number : 146 Question Id : 5171449432 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

As products of mass culture, movies reflect...
Options :
. Cultural Attitudes

1. #



5 % Trends

3 % Concerns

All of the above
¥

Question Number : 147 Question Id : 5171449433 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Who is known as the first lady of Indian Cinema?
Options :
|« Nargis Dutt

) Devika Rani

3 % LaxhmiRai

4 % Bhanu Athaiya

Question Number : 148 Question Id : 5171449434 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In communication, words are not used in the process of sending and
receiving messages.

Options :
| % Verbal

) Non-\erbal

5 » Prosody

4. % Oculesics



Question Number : 149 Question Id : 5171449435 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The information, which is transferred, has to be interpreted by the receiver.
This process of interpretation is known as __.

Options :
Feedback

1. ¥

, % Transmitter

3 ¥ Decoding

4 % Channels

Question Number : 150 Question Id : 5171449436 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Who propounded the concept of two step flow theory?

Options :
v Katz and Paul Lazarsfeld

, » Joseph Klapper

3 % Shannon and Weaver

4% Aristotle



